2.

Numerical simulation of fingered flow: 2. Occurrence of fingering in two-dimensional flow
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Fig.1  Diagram explaining water entry into elements
of 2D lattice. Bold line is the position of wetting front. 0
or 1is K flag. Arrows are water flux.
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Fig.2 Simulated wetting patterns during downward

infiltration in uniform medium with initial tongue of wetting
front. (a) Initial condition. (b) Calculated without dynamic
water entry pressure; initial tongue shrinks. (¢) Calculated
with dynamic water entry pressure; initial tongue develops.
Ax=0.4(cm), Ay=0.5(cm), At=1(s), q0=0.2Ks=6*10'3(cm/s),
h(t=0s)=-100(cm),h,,=-10(cm).
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Fig.3 Frequency density function given for K.
Log normal distribution with log mean Ks and log
standard deviation (=1.7=exp(0.53)).
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Fig.4 Simulated wetting patterns during downward
infiltration in medium consisted of elements having
randomly varying saturated hydraulic conductivity. (a)
Calculated without dynamic water entry pressure;
uniformly infiltrates. (b) Calculated with dynamic water
entry pressure; fingers develop. A x=0.4(cm), A
y=0.5(cm), At=1(s), q;=0.2Ks=6*10"(cm/s),
h(t=0s)=-100(cm).h,,=-10(cm).



